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1

moisture content by mass
flow rate (kg/s)
tin ('C)
30
32
34
36
38
40
42
44
46
48
50

2 ?
moisture content by mass
flow rate (kg/s)
tin('0
30
32
34
36
38
40
42
44
46
48
50

0.05

29.6
317
33.7
35.4
37.3
38.8
41
43.1
45
46.7
48.3

0.05

29.5
317
32.2
32.9
33.4
34
34.9
36.2
37.4
38.3
39.2

01

29.9
31.8
33.5
35.9
31.7
39.9
41.7
43.8
45.6
47.4
49.2

0.1

29.7
312
32.7
33.8
35.1
36.4
31.7
39.1
40.6
41.7
43.3

LOW
0.2
tout ('C)
29.9
31.9
339
35.9
37.9
39.8
419
43.7
45.8
47.8
49.6

MID
0.2
tout ('C)
29.8
315
33.7
34.9
36.5
38.2
39.6
413
43.1
44.8
46.7

0.3

29.9
31.9
33.9
35.9
37.9
39.9
41.9
43.9
45.8
47.8
49.8

0.3

29.8
31.8
33.5
35.2
37.1
38.8
40.7
42.3
44.2
46.1
47.9

04

29.9
31.9
33.9
35.9
37.9
39.9
41.9
43.9
45.9
47.8
49.8

04

29.9
31.8
33.6
35.5
37.5
39.3
41
43
44.1
46.2
48

179



3

moisture content by mass
flow rate (kg/s)
tin('C
3
kY
34
36
3
40
42
44
46
48
50

4
moisture content by mass
flow rate (kg/s)
tin('C)
K|
2
34
36
3
40
42
44
46
48
50

0.05

289
298
04
314
325
3.7
349
3.8
36.7
311
316

0.05

298
30.2
32
325
3
35.6
3
38.6
393
411

01

29.7
315
326
41
3.3
36
313
38.6
398
41
419

01

29.9
319
339
3.9

36
313
01
413

449
46.5

HIGH
0.2
tout ('C)
29.7
316
329
345
36.2
318
304
41.2
42.7
444
46

LOW
0.2
tout ('C)
29.9
318
37
3.8
315
393
412
425
442
46.4
481

0.3

299
314
334
3.2
36.7
385
40.2
419
437
45.5
411

0.3

29.9
319
339
38
314
395
414
435
456
472
49.3

04

2.7
315
35
35
3
38.6
40.6
42
41
459
413

04

29.9
319
3.7
35.6
318
39.8
417
435
454
411
489



5 4
moisture content by mass
flow rate (kg/s)
tin('0

0

32

R

36

3

40

42

44

46

48

50

6
moisture content by mass
flow rate (kg/s)
tin('Q)
0
kY
34
36
3
40
42
44
46
48
50

0.05

285
295
303
314
325
336
348
36
314
384
0.1

0.05

28.6
29.2
298
30.5
312
32
326
333
41
349
35.6

01

29.5
314
33
34.2
348
36.5
317
398
411
42.5
438

01

294
30.7
322
335
34.5
36.2
315
38.6
40.2
413
4.7

MID
0.2
tout ('C)
29.9
316
332
3.7
36.5
38
396
41.2
43
44.8
46.2

HIGH
0.2
tout ('C)
2.7
3L4
31
4.7
36.6
315
39.2
413
42.3
435
449

0.3

299
318
338
3.5
314
39.2
408
42.5
44.3
46.2
481

0.3

298
316
333
3.2
3
389
40.6
424
443
4.1
41.5

04

299
319
335
3.6
312
3
4
424
44.2
46

04

29.9
317
335
3.3
3
3.9
40.7
42.3
441
459

181



T
moisture content by mass
flow rate (kg/s)
tin('C)
30
2
4
36
3
40
42
44
46
48
50

8
moisture content by mass
flow rate (kg/s)
tin('C)
30
2
34
36
3
40
42
44
46
48
50

0.05

289
30
315
328
347
3.8
315
384
395
414
42.6

0.05

28.3
293
303
314
32.7
339
3
36.2
316
38.7

01

299
319
338
345
3.7
315
393
4
42.8
44.6
46.2

01

295
314
3.2

349
3
31
398
412
4.1
41

LOW
0.2
tout ('O
299
3L7
35
3.3
372
31
4038
421
445
464
48.2

MD
0.2
tout('C
29.9
315
31
348
36.3
38
39.7
414
43
4.7
46.4

0.3

299
319
338
3.7
315
394
41.3
432
452
41
49

0.3

299
319
339
3.5
314
39.2
409
4.1
44.5
46.3
48.3

04

299
319
3.7
35
316
393
412
432

47
488

04

299
319
338
35.6
311
3
4
427
444
46.4
481

182



9

moisture content by mass
flow rate (kg/s)
tin('0
Rl
RY)
34
36
3
40
2
M
46
48
50

0.05

285
292
298
0.7
312
318
32.5
33

3
355

01

293
30.5
32
335
351
36.7
31.6
38.7
40
414
4.1

HIGH
0.2
tout ('C)
29.7
313
3
3.7
36.2
319
30.6
41.2
425
439
45.2

0.3

29.7
318
335
35.5
311
388
408
423
44.2
46
479

04

298
315
333
3.3
36.9
388
408
42.6
44.4
46
4.1
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m
4.24
0.05 kg/s
= 145 mm
0 =165mm
L =50m
d =0.7m
ke =042 ImK
cp =4.2KJI/(Kg-°C)
ts =215 ¢
t =t Lx(tin~t)
mCpRix \'m
Rj= R+ Ro
dr0= 0.7/(16.5 x107) = 42.42 4
2.2 Ry
(M
h= 2nK

185

50

(4.24)

22)



Soil Conductivities
Soil moisture content
(% by mass)
low 1< 4%
medium 14%to 20 %
high , >20 %

Sail Thermal Conductivity, Ks( /m'K)

sand St
0.29 0.14
1.87 1.30
2.16 2.16

R 1 (2%0.7/165*10-9
5= 2r(216)

Rs =0.3272"—

2.8

~ (16.5/14.5)
0= 27(0.42)

Rp =0.04907%A

R =03272 +0.0490=03762 —

4.24

50%(50 - 27.5)
= *0.05%4.2%0.3762%1000

=35.76°C

clay
0.14
1.00
2.16

186

35.76 C
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